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EZ 43,451,718 43,458,925 ANT,207

= 24,867,103 24,867,403 A300

Xl 2,370,000 2,370,000 0

& 16,214,615 16,221,522 26,907

BELTHL (BHAES/SHAES L) 3,195,693 3,203,000 7,307
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2RSF A 38,508 42,500 A3,992

201 2 Bt23H| 37,625 41,000 23,375

01 AR 22l | 9,320 11,000 21,680

OAaMNRRSE 29 9,320 11,000 21,680

03 i At2FHI 28,305 30,000 21,695

O4X EE2Z4 HE S LA&AUY 2 28,305 30,000 21,695
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09 AR HIE &S 883 1,500 AB17
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= 2,383,503 2,383,803 A300
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LABIESAIE 22 2,696,994 2,696,894 100

= 2,383,503 2,383,803 A300

[ 313,491 313,091 400
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QIZITISEFEZAS 85H| X (212) 8,000 8,600 A600

= 4,000 4,300 A300

[ 4,000 4,300 A300
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= 3,000 3,300 A300

- 355 -




FA: 230
F: (0| BH(#ZES/0UD1)
Chel: QAHIEAIL 2L

. BH-FE . G9(3) - NRANY - BaS ol b ool
TTT — —T 3,000 330
09 &AL HIZ A= 6,000 6,600
OuIZtESEE BI2HQl AMH|E4 6,000 6,600
= 3,000 3,300
== 3,000 3,300

- 356 -






